A R

1. LEA4
THE4 EE 4 3 St s iR T
T4 SRR E I (P MER AR TS )
2. LHEHNE
1)  FHEI4 EEE R EHEE R
2) T f& HEEMER T
3) T £ 365 H [H H SF TH 48 1H
ER %0 84 3H31H
4) T EAE

Etrmey R R



TH4 | [FEiE 4 3 S AR R T8
THXS - LFE - B L ¥ = & M EN
18 e = 71, 559, 466
R T = 17, 543, 429
A 2 AT = 17,543,429 |EARTE (A) 200 2

545 30cmA i ;

HAE (B) 200 »
# 8 30ecmPL_E60cmATH ;

HAIE (C) 200 »
#E60cmPL_E90cmATH ;

HAE (D) 200 »
25 90cmPL_F120emAR ;

HAE (E) 50 »
#E120emPl_E150emAE ;

HAE (F) 20 »
# 8 150emPL_E180emA ;

HASE (G) 5 &
#E180emPL_E210emA ;

EASE (H) 5 &
#E210ecmld |

HFIEATT & (BRIE) (A) 30 VN
1 100emPl_E200emA i ;

HFIEATT & (BRIE) (B) 20 VN
15 200cmPl_E300emA ;

FRETE (A) 10 m2
B #% 5 S 60embh E ;

FRETE (B) 2,900 m2
BT E R S 60emAR ;

Fnx (A) 4,000 *
EA

wx (A) 10 m2
B (5 )

EABIBR (A) 2 VN
B8 60emA o FANLE F 220

- ES R a i KNN3 LWk il




PR R E

TH4 | ENE 4 3 ST AR L9

THX4y - TFE - fER A ¥ = & M A 5] M EN

BB (B) 2 ZN
R JE60cmEl_120emsiw ; AT E E 20

HABGER (A) 2
HE 100emPl_F200emaAdi ; AT E £ 20

HABGER (B) 2 ZN
HE200emPl_E300emAd i ; AT E £ 20

ORISR AI AT (A) 5 m2
; AT E E 720

IEAFEAIAT (A) 1,800 m2
; AT E E 720

M EEEEAF WA (A) 700 m2
; AT E E 720

B (A) 3 VN
F¥ANT) H=3.5 C=0.21 W=1.5 ; FAREEE T

A (A) 3 ZN
TN YY) AL H=0.4 W=0.4 ; REBFEIREE T

A (B) 3 VN
YN OH=0.3 W=0.3 ; RERTEIHE S T

EABR (A) 1 VN
# 8 30ecmPL_E60cmATH ;

EABME (B) 1 VN
#E60cmPl_E90cmATH ;

HABH (A) 1 ES
B E60emld_E100emATi ;

HABA (B) 1 ES
FE100embd _F200cmARTw ;

EABR (A) 3 EN
e E60cmATH ;

AR (A) 2 ZN
SRR MREIE S T

EAKFE (B) 2 ZN
THBERAST ; R A e

AR (C) 2 ZN
S SRR ;AR AR B e

-2 - Etrmey R R




H

P

PR R E

TH4 | ENE 4 3 ST AR L9

THXS - LFE - B L ¥ = & B A ] EN
HARSRE (A) 2 ZN
WHE (1A - 7)) ; e E T
ARSI (B) 40 m
AT MERETEIEE T
THS B BB E) (A) 5 g
N =JHEE  20kg/4¥ ;
THS B BE#E) (B) 5 g
FEEE T AKIBIR/E A 20kg/4
LR (BTEHE) (A) 5 ZN
bl pEAH 500mL/A
L A% BHEE) (A) 5 w
3mm F20m (GR)
F (MEHE) (A) 5 m3
M E S E0FCLER)
FRE T = 47,765, 250
1B R T = 47,765,250 |$RIRFRE (A) 300, 000 m2
A Fx
FRE (A) 2,500 m2
BHENTX ROED#ER
FRE (B) 3, 000 m2
AT B BAERE T
SR T = 980, 475
AR T = 540,000 |iAMLERIEZE (A) 20 REfH
RALIIER (B) 20 Ui
TS AL T e 440,475 | R T (A) > A-H
WiEEER (A) 5 A-H
U7 Moy riEER (A) 5 REfH
PAR:
Ny) Oyv-vEEEAE) & (A) 5 REfH
2tFE 2.0t 1P ;
EPTEEEIER (A) 5 A

£y BRAEY T AT b~ Ay MR VESEPR 12,

Etrmey R R




P

PR R E

TH4 | [EiE 4 3 SR T3
THXSy - TR - FflR Bz ¥ & & F N
EATERHEER (B) 5 i3]
Ny BRAEY T BT b~ Ay MR VESEPR B 24m
N yrtniEls (A) 5 i3]
Je-72,  [L%O. 13m3 (SEAKO. 1m3)
AR - [\ T = 505, 200
T KR T = 1 505,200 |x&[E (A) 10 H
AV 1.5L
FEAR = 1 3, 586, 412
BARET B 1 1,561,462 | HIAfKE (A) > *
2 E 20emATH
WARE (B) 5 &
#E20emPl_E30cmATH ;
WA (C) 5 &
# 8 30ecmPL_E60cmATH ;
BiARE (D) 5 &
#E60cmPl_E90cmATH ;
AL (E) 5 ZN
B2 JE90emPL _F120emAd ;
WA (F) 3 &
#E120emPl_E150emAE ;
BARHE (G) 3 &
# 8 150emPL_E180emA ;
WA (1) 3 &
#E180emPL_E210emA ;
WA (1) 3 &
#E210ecmld |
IHHE (A) 5 ZN
AL
XHHE (B) 2 ZN

HAREEE (LAY - 71)

Etrmey R R




TH4 | ENE 4 3 ST AR L9

THEX4y - T - 5 B ¥ & & #m B N iR
AR (C) 40 m
R AEE
TR ALEE T = 1 2,024,950 |#&FE (A) 10 t
BIEEA - (REEAR) %
B3R (B) 50 t
BIEEA - (REEAR) B
kR (C) 50 t
(BIEEA - (REEAR) 1R
B3R (D) 50 t
—WRBEEY) AW, BREE
TG an = 1 1,178, 700
AREE T = 1 1,178,700 |ZEFEEEHE (A) 60 A-H
RiaFHEEME (B) 10 A-H
ERE T = 1 71, 559, 466
Il = 1 7,241, 800
i = 1 58, 800
Bl sy 2V 1 58,800 |1E &k FEAT —S R E 1 =K
Il (R L) = 1 7,183, 000
i TR = 1 78, 801, 266
B B = 1 32, 671, 000
T 5 = 1 111, 472, 266
— R B = 1 18, 837, 734
T Ak = 1 130, 310, 000

|

(@2
|

H

trziEE TR R




